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In AABC the following relationship holds:
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Proposed by Dang Ngoc Minh-Vietnam

Solution by Mirsadix Muzefferov-Azerbaijan
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Here (Mollweides formula)
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%(sin (g - C) + sin (g — B)) =%(COS(B) + cos(0))
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42 S::laf _ hia(cos(B) + cos(0)) + hib(cos(A) + cos(0)) + hic(cos(B) + cos(4)) =

= %(cos(B) + cos(C)) + % (cos(A4) + cos(C)) + g (cos(B) + cos(A4)) =

= %((a. cos(A4) + b.cos(A)) + (c.cos(A4) + a.cos(C)) + (b.cos(C) + c. cos(B))) =
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a = b.cos(C) + c.cos(B)
Here |b = c.cos(A4) + a.cos(C)
¢ = a.cos(B) + b.cos(4)




